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29.

30.

SECTION - II

MATHEMATICS
1 1 _
a-b T b-a ="
1 (¢ —b)+(a—Db)
D a+p @ (a=b)(b—a)
3 1 “4 0

The LCM of two co-prime numbers is 910 and their sum is 83. What will be
the difference between the two numbers?

(1) 57 (2) 60

(3) 81 4 75

Two right angled scalene triangles are joined along their hypotenuse. Which of
the following figures will be formed? (Select two correct options)

(1) Rhombus (2) Kite

(3) Rectangle (4) Trapezium

60 /. milk contains 15% fats and 40 /. milk contains 8% fats. If these two milk
are mixed together, then what will be the % of fats contained in the mixture?

(1) 878 % 2) 122 %

(3) 1220 % “4) 122 %
oo o

Find the value of : 27 236 X1821

(1) 64 257 %400 2) 54

(3) 0.54 (4)  0.064
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(1) 87.8% 2) 12.2%
(3) 1220% @) 122%
1 1 1
S8 50508 27A X 364 X 81%
=) 1 1
(1) o4 255)(400 2 2) 5.4
(3) 0.54 4)  0.064
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31. In a circle, the measure of a major arc is 60° more than double the measure of
its minor arc. What will be the measure of its major arc?
(1) 100° (2) 300°
(3) 220° (4) 260°

32.  Write the degree of the product of (x*—27)(x*+2x+2)
(1 6 2 5
3) 3 “4) 2

33.  Which of the following options indicate the volume of a sphere?

(1) §x 27 @ Lxd4nr?
@ 3 OIS Ss

34. Rohit purchased a 3 year old used machine from Mohit for Rs. 8,57,375. If
the rate of depreciation is 5%, for how much did Mohit must have bought the

machine ?
(1) Rs. 10,00,000 (2) Rs. 12,00,000
(3) Rs. 8,00,000 (4) Rs. 9,00,000

35.  Which of the following are the factors of a trinomial?
(@ — b)? —17 (a — b) — 60 ?

(1 (@-b-12) (a - b +5) 2) (a@-b+12) (a - b - 5)

(3) (@—-b+20) (a—-b-3) 4 (a@a-b-20)(a—->b+3)
36. (3x+7) is an even number. What will be the square of ‘x’ from the following

options?

(1) Odd number (2) Even number

(3) Prime number (4) Twin prime number

SPACE FOR ROUGH WORK
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34.

35S.

36.

&8 55@@:90@55 QS D0 §0B, HoPEH VTN BH0ES, 60° LS TOO. WAVT WYS S0

E%¢8 Dogs ?
(1) 100° (2) 300°
(3) 220° (4) 260°

(3 =27) (6% + 2x + 2) 88 2350DDO DS ©00 G308, HS0 DO ?
(1) 6 2 5
3) 3 4) 2

808 50830 F0850 HOFHOGTE0[D 090B0& ?

(1) Lxopp Q) Lxans
3 3
() 3 @)

308 3 DosBmen @S dvsanoEe, 8,57,375 sraranetn §%r8 §93%0. Srhresin
D088 5% ©9000F B00E e5010(E@R), DY), TP EWRT ?

(1) 10,00,000 & (2)  12,00,000 5.

(3) 8,00,000 ooe. 4) 9,00,000 ooe.

(a—b)?>—17(a—b) - 60 &5 |®50 G308, Se5ERTRLED 808 B0 9 ?
(1) (@-b-12)(a-b+)5) 2) (a-b+12)(a—b-5)
3) (@a-b+20)(a—b-3) 4 (a@a-b-20)(a—b+3)

(Bx+7) DOVOP; O 0N X Hogy B0, 5o 8o 0SS0 9 D0y 000 ?
(1) &3 Doy (2) & Sogy

(3)  oes Doy (4)  DoEes Doy
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37.

38.

39.

40.

41.

2
Abdul covered gth distance between the towns A and B by car and % the

distance by bus. Still town B is 15 km away. What may be the distance between
the town A and B ?

(1) 105 km (2) 450 km

(3) 75km (4) 150 km

The capacity of a bucket is 10/ If it is to be filled to its full capacity, how
many bottle of 1.25/ will have to be emptied in it?

(1) 8 bottles (2) 80 bottles

(3) 10 bottles (4) 100 bottles

If a supplementary angle of an angle’s complementary angle is 108°, find the
measure of the angle.

(1 72° (2) 18°
(3) 98° (4) 198°

In the adjoining figure, the diagonal of a square is 12cm. Find the length of
every side.

&
TN il
(1) \/65 cm | (2) 6 cm
(3) 12y2 cm (4) 642 cm

(0.3)2 + (0.1)2 — (0.2)2 = ? (Select two correct options)
(1) 0.6 ) (0362
(3) /0.0036 4) 0.06

SPACE FOR ROUGH WORK
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aomtoéﬁ DOTPE0 DD, @005 B 08 Bomed8 mose 15 8590ty 6o &0 e9ond A S0
B &s08 05 ESPBO Do ?

(1) 1058%0 (2) 450880

(3) 758% (4) 15085

&5 Bey A0 10 Desy rowm. s 213 Drgr HBED DoeEEH asBodrs) des A D0en
DR, OSIBSOIHI ?

(1) 8 2aven (2) 80 daoen

(3) 10 Saren 4) 100 Soven

&5 §9e30 3308, YOS 8905 D0 o} 890 108° o @005 €3 §%30 §P0&0 550f°50& ?

(1 72° (2) 18°
(3) 98° (4) 198°
B8, S5e08(00 A3, 5go 12 2o. 0. . 90005 D (DO gHes0 DEI) Do ?
£ ”@9 _+
i 2. 2.
(1) 77 RO o. (2) 6 20. &o.
(3) 1242 %o. &o. 4) 642 0. %0.

(0.3)? +(0.1)> = (0.2)? = 207 (Bots> FOGIHF HOEHINOBO MHYOO)
(1) 0.6 @  (036)”
(3) /0.0036 4)  0.06
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42. Four vertices of a square lie on the circle as shown in the figure. The center of
the circle is 'O' and radius is 7cm. Find the area of the shaded portion.

.0

(1) 54 sq. cm (2) 55 sq. cm
(3) 56 sq. cm (4) 57 sq. cm

43. In the adjoining figure, I, m, n are parallel lines. mZDAO = 60°,
mZ0OCE = 35°, then mZAOC = ?

D A .
67
< o » M
B o\ G
< 35 > n
E C
(1) 25° (2) 95°
(3) 85° (4) 105°

44. Which of the options given below are incorrect statements? (Select two correct
alternatives)

a. A ray has a midpoint.

b. A line has a midpoint.

c.  Chord of a circle has a midpoint.

d.  Perpendicular bisector of a line segment passes through its midpoint.

(1) a (2) b
(3) ¢ 4 d

SPACE FOR ROUGH WORK
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42. 580 $5r0000DD DEOre 8.5 BEOGEO GRS, BTN S0P TOD). &E0 IS, 50 7
20. &o. 5500010 '0' Bo|50 1. 90205 8308085 g0 3008, BB 553%‘5&0&.

.0

(1) 54 s.20.80. (2) 55 .20.8.
(3) 56 =.20.80. (4) 57 5.20.8.

43. 93%69955 B [, m £500050 1 3 D05 Sen o). mLDAO = 60°, m LZOCE = 35° e9o0ad
m ZAOC = Dog ?

D A /
67

| 35°

E C

(1) 25° (2) 95°
(3) 85° (4) 105°

\

\/
3

A

A

\
S

44. 308 soBS? HoHR &G SO MHROBOE. (B0 VTR DTXADSVORO HYOSE)
a. 8538 2.5 85055008y E30€2008.
b, Bpm a5 06D e0e00d.
C. S0 eRPH 85 S06E0EI) B0NOD.
d. Bgrepocso G308, ©0DSODOES Bpen D3 0638010 DEO00.
(1) a 2) b
3) ¢ @) d

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

Which of the following terms, when added to the binomial 1 + 64ab?, will
make it a perfect square? (Select two correct alternatives)

(1) 16 ab 2) 8 ab

3) -8 ab 4) - 16 ab

By which of tests, A ABC and A DCB from the given figure will be congruent?

A D
B C
(1) SSS test (2) SAA test
(3) ASA test (4) SAS test

Find the ratio of x and y, if a number is 20% of ‘x’ and another is 25% of ‘y’.
() 5:4 (2) 4:5
3) 2:3 4 3:2

The weight of 20 students from a class is given in the frequency table. Find the

mean of their weights. (Select two correct alternatives)

Weights of the students (in kg) Frequency (f)
20 11
21 8
22 1
(1) 20 kg 50 gm (2) 20.5 kg
(3) 20.05 kg (4) 20 kg 500 gm

SPACE FOR ROUGH WORK
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45. 1+ 64 a?b? s HEowH wErH0 Y S0 WHEEW 8od BE O WG B0ESS),
€30€2008 ? (8060 HOGIH DTCDESVOO 10050 )
(1) 16 ab (2) 8 ab
(3) -8 ab 4) -16 ab

46. ©588% AABC s0oato ADCBen 9 a8 05050 360870080 2

A D
B C
(1) eo-go-g0 (2) eo-§9-8°
(3) &b-gn-8° (4) eo-8d-ep

47. a5 Doy (x) 35 20% 5500050 Bocsss Hogy (V) 550 25% 58550 Ty eons X' 5% Y w0
(TSR écﬁag%&o&.
(1) 5:4 2) 4:5
3) 2:3 4 3:2

48. a5 858 20 08 oRe awdeo (g 88 maned?) 8o dEore o). ), B8
DIRERO TP SO0 B0, (Boesd FOFGID DTROMEINOR 1Yol )

Do e (X) (g 880 [rawed®) | Duss 0 (f)
20 11
21 8
22 1
(1) 20 8 mave 50 [meaoen (2) 20.5 8 rswe
(3) 20.05 880 esoen (4) 20 88 rswe 500 [raoes

SPACE FOR ROUGH WORK
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49.

50.

S1.

[] ABCD is a cyclic quadrilateral. Point E lies on the ray BC as B — C — E.

If mz DCE = 95°, then m£ DAB =?
A

(1) 85° (2) 95°
(3) 190° 4) 170°

From a rectangular thermocol sheet with dimension 20cm x 10cm, a rectangular
piece of 2cm x Scm dimension is cut. Which of the following sentences will

be correct for the thermocol sheet?
20cm

10cm

(1) Perimeter will increase (2) Perimeter will decrease

(3) Perimeter will remain same (4) Perimeter will get doubled

Find the incorrect statement from the following:
(a) Every prime number is a natural number.

(b) Every rational number is a real number.

(c) Sum of any two prime numbers is an even number

(d) HCF of twin prime numbers is 1.

(1) a (2) b
3) c 4) d

SPACE FOR ROUGH WORK
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49.  es5 S [JABCD 8o SBTYe30 o, 5680 BC 2 Hooy E a8 B — C — E. 88 5000

oo m ZDCE = 95° escos m ZDAB = doss ?
A

(1) 385° (2) 95°
(3) 190° 4 170°

50. &5 &y w5805 @eseo) 20 20.80. X 10 2o. fo. Seosne 35m05,S0 08 2 20.80 X 5 20.80
SROT:1e19) é)ga@d [RP5e8 BE, S008, §OTE 208 530838 O D0 PO ?

. 2020.80.
3 |
o
i
=
(1) woen8le8 HTrHo (2) ©oen8les &N,
(3) @eRElossd S, &0t (4) eR88 BeoR) eI

51. 808 508380 50509 D5odsino 0890508,
a. (208 (DTS 008 Rl K)O@S G000,
b. (8 esoBaniog; DS $08; 60e0d.
C. Q3 Bocsd (DPPREI08 00O DO DO €000,
d. 559 HeesS Soe r.e.er. | eoenod.
(1) a (2) b
(3) ¢ 4) d

SPACE FOR ROUGH WORK
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52.

53.

54.

In the figure, line / and m intersect in point O. Find the value of ‘y’.

(1) 164° (2) 56°
(3) 34° (4) 146°

Read the following statements and select the correct alternative. (Two correct
options)

(A) The numbers divisible by 3 and 4 are divisible by 8.

(B) All numbers that are divisible by 2 and 9 are divisible by 18.

(C) The numbers divisible by 6 and 10 are divisible by 2.

(1) Statement ‘A’ incorrect (2) Statements ‘B’ and ‘C’ are correct

(3) Statements ‘A’ and ‘B’ are correct (4) Statement ‘C’ incorrect

Which of the following conditions should be given to make the total surface area

of a sphere and cylinder to be equal?

(1) Diameter of a sphere should be equal to the radius of a cylinder.
(2) Radius and height of a cylinder is equal to the radius of a sphere.
(3) Radius of a cylinder should be double the radius of sphere.

(4) Height of a cylinder should be equal to the diameter of the sphere.

SPACE FOR ROUGH WORK
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52. 93%8955 B [ s0vam0 m HR,50re O Dososy) S¢§ PO0BO. 90205 Y’ DS BIAR0.

(1) 164° (2) 56°
(3) 34° (4) 146°

53. 800 IpIs0en S DOGHS DTROMSNVOR 1HoFE. (8o DOGID  DTOMSVORD
80508
©) 3 a0o0m0 4 3 grA0DE e, Bogyen 8 <3 ePA0DRIEITR.
e3) 2 a0oomn 9 & rAona o), Sogen 18 B eraomameon.
1) 6 s0oano 10 & grAonaed e, $ogxen 2 B grA0DaETR000.
(1)  Dpeso ‘@’ 5050 (2)  Dpeso ‘es’ S0oaTd ‘@’ OGP

(3)  Dpeoren ‘@9’ o000 ‘es’ TOAID (4) Do ‘g’ HORD.

54.  QpE®o Goos, 3080 BO0PTO0 S0D0K0 FIE0 G308, 00 BTN0 DEFH0 eIDHESEE 808 o3&
DO DOGID ?

(1) g0 GBoos, 00 $HVATD AFDO GRVE, AP0 DSTFHFO G0wD.

(2)  DpDo G308, ERE0 SR0T0 D& VO F0E0 aRERPo €908 &owd.
(3) Ax®o 330, ;Yo A fdgo a3oos, TPY0 55, 802 &0cd.
(4)  SpDo Gos, 28 a8 {50 G308, 52590 €08 &owd.

SPACE FOR ROUGH WORK
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5S.

56.

57.

58.

59.

A fruit seller purchased 48 dozen bananas at the rate of Rs. 48 per dozen. 1
dozen bananas were spoiled. He sold the remaining bananas at Rs. 72 per dozen.

How much profit or loss did he incurr in this transaction?

(1) Rs. 1080 loss (2) Rs. 1080 profit
(3) Rs. 72 loss (4) Rs. 48 profit

In a cuboid shape tank, water is being poured from the tap at the rate of
60 //min. The capacity of the tank is 108 cu.m. How much time will be required
to fill the tank to half of its capacity?

(1) 10 hrs. (2) 3 hrs.
(3) 30 hrs. (4) 15 hrs.

What will be the compound interest on Rs. 30,000 at the rate of 12% p.a. in

1% years?
(1) Rs. 5400 (2) Rs. 6516
(3) Rs. 5696 (4) Rs. 5616

Using the digit only once, from one digit prime number form the greatest and
smallest 4 digit number. Which of the following options will not divide the
difference between these numbers completely?

(1 3 )
3 9 @ 7

Which of the following options is not a pythagorean triplet?
1 G, 4,5 (2) (7, 24, 25)
3) (8, 15, 17) 4 (5, 13, 14)

SPACE FOR ROUGH WORK
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5sS.

56.

57.

58.

59.

Tg2SR0R 48 ErEPaDe &b E §%0,5 48 sat) wrdnm, S%oRNlenB. Worsd? &5
(523550 @953 HEY, DEDHOIT0. QOADS ), SN, 72 EPDRODO 8.8 Gasdd &0, 0.

@000 B8 S50 B ergrasr ?
(I) 1080 srarane S50 (2) 1080 sarame eveso

(3) 72 srarone S50 (4) 48 corarane ereso

&5 OO0 essesone B, ©oSIS D& AaRRS 60 Sy &8 Gensd a5 Sdondisod. dw,
DB, 608 Asg0 108 H0 Hoeorsy rewm. @000 €8 608 B0 AOEEEITH HoS HADO

B’J&%g?ﬁ) ?
(1) 10 rsoeoen (2) 3 roeoen
(3) 30 rsoeoen (4) 15 rsoeven

0. 28 12% Beeois 30,000 eramases> 15 S0, o8> S55G 550508 2
(1) 5400 & Q) 6516 &».
(3) 5696 o. 4) 5616 o.

2.8 90510 (DGR K)ogpéeéﬁfa 08O 88700 GIGIPA0Y BOIXPSID 98 Kxg DN O0SO K)ogpé
SO0 BB DS, T8O Hog) DS 50 Bod TS O 0033 VB0 EPA0DEE ?

(H 33 2) 53

3) 93 @ 73

208 3030 9 D0gRgHOSITPT0 PTERBD H0200D0D T ?
(1) @3,4,5) () (7,24,25)
(3) (8,15,17) 4) (5,13, 14)

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

64.

: . ., —119
What is the product of two integers between which ——— lie?

13
(1) 65 (2) 90
3 —-72 4 +72
% = How much?
(1 171 (2) 168
(3) 169 4) 170

I had to give Rs. 7 change to Rickshaw uncle. I had enough coins of Rs. 1,
Rs. 2, Rs. 5. Then in how many ways can I pay him?

(1) 6 ways (2) 3 ways
(3) 5 ways (4) 4 ways

The average age of Ria and her 4 friends is 24 years. Their ages are (3m — 2),
2m + 7), (4m — 7), B3m), 3m + 2) respectively. Find the value of ‘m’

(1 7 2 9
3) 8 @ 5

As the rate of ticket of a play increased by 25%, the sale reduced by 15%. What

1s the rise or fall in the total income?
(1) 6.25 % rise (2) 6.25 % fall
3) 12.5 % rise 4) 12.5 % fall

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

64.

_11319 53 5630 D08 O B Y, éacséﬁoc‘is &3 YR,© M ©20 D0 ?

(1) 65 2) 90
3) -72 4 +72
(169)*—1

(13,)72_1 = D0& ?

(1) 171 (2) 168
(3) 169 4) 170

cgooard, oG8 0 7 o, s QaR®,G0D. TS 1 60, 2 500 s509050 5 e, AR, De,e0 1705

9000 B 83 7 EIERONE DY), TSRO ASIOW ?
(1)  eso BzPenm™ (2) o Bzeenme

3) o0 ozeeom (4) eeormH Tseeome

SO SOOI €330 FLOMHW VY, JTDO SODI 24 HOSBTED HOE. 0 SODROD
oo (3m —2), 2m +7), (4m —T), (3m), 508050 (3m + 2) 5056 00e0 o) 00
‘m’ De0sS5H0 B0RHa50.

(7 @2 9

3 8 4 5

&5 B3ty Do 25% DoriEosens eﬂéoégoés 15% &0o&. @003 g0 3t Do BFoe50
S0 B DWOMHO ?

(1) 6.25 % voormso (2) 625 % s

3) 12.5 % oormso 4) 125 % s

SPACE FOR ROUGH WORK
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65.

66.

67.

68.

69.

Which of the following are the factors of (a3 — 8b%) ?
(1) (a — 2b) (a*> — 2ab + 4b?) (2) (a — 2b) (a* — 2ab — 4b?)
(3) (a — 2b) (a* + 2ab + 4b?) 4) (a — 2b) (a* + 2ab — 4b?)

The length, breadth and height of a cuboid is ‘/° cm, ‘6> cm, ‘A’ cm. If
[b = 60sq. cm, bh = 24 sq. cm, hl = 40 sq. cm, then find the volume of cuboid.

(1) 248 cu.cm (2) 240 cu.cm
(3) 600 cu.cm (4) 420 cu.cm

Solve the equation and find the value of x,

x—5 x+2
s T 70
() 0 2) 0.7
10 13
(3) Ea 4) B3

A semicircle 1s drawn over a diameter. The circumference of the semicircle is
72 units. /(BC) = I[(AO) = [(OC). Find the permimeter of A ABC.

A 9) C
(1) 42 + 1443 units (2) 5643 units
(3) 56 units (4) 423 + 14 units

Which of the following options is the co-efficient form of the polynomial
(x> — 4x)?

(1 a, -4 2) (1, 0, 0, 0, -4, 0)

3) d,o,0,0, -4 4 (1, 0,0,0, 4

SPACE FOR ROUGH WORK
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65.

66.

67.

68.

69.

(a3 —8b3) G308, SBETH0 D ?
(1) (a — 2b) (a*> — 2ab + 4b?) (2) (a — 2b) (a* — 2ab — 4b?)
(3) (a — 2b) (a* + 2ab + 4b?) 4) (a — 2b) (a® + 2ab — 4b?)

8.5 DGPOD0BE)S0E, D08, DS, 50OATN DAL B[S0 [, bsroosnhries). [b=60:5.20.90.
bh =24 5. 20. &0, hl = 40 5.20.80 10D 0D €3 B0, POPVVODIEI0N BHRHO[0 ?

(1) 248 z05 0. &o. (2) 240 05 2o0. &o.
(3) 600 505 0. . (4) 420 505 2o0. &o.

208 HE5EIS[ mvé&gaoé:) X' D050 50050

ng +xJ2r2: 0

1 0 2) 0.7
10 13

3 7 @ 5

A ABC 508, gnaso AC & argosoore &moS%R egsmd), Aonadse. egaEo segsles 72
o00e S0 BC = A0 = OC @ons A ABC 3005, $5068%08 5ifitss00.

LN
A O T ¢C
(1) 42 + 14V/3 onoRen (2) 5643 onrden
(3) 56 onorRen (4) 42/3 + 14 aneden

(X7 — 4x) 5 250D 3308, HI°DEISER TP0 80 T3S0 DD ?
(H (1, —-4) 2) (,0,0, 0, -4, 0
3) (1, 0,0, 0, -4 4 (,0,0,0 4
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70.

71.

72.

73.

Sureshrao sold an article for Rs. 1962 and earned a profit of 9%. What was the

cost price of that article?

(1) Rs. 1900 (2) Rs. 1850
(3) Rs. 1950 (4) Rs. 1800

ma% If m = 30 then n = 5. Write the equation of variation.

(1) m = 6n (2) mn = 150
3) n=150m 4) mn =06

In APQR, angle bisectors of ZQ and ZR intersect at point O. mZ0O = 130°,
msP =7
P

Q R

(1) 50° (2)  100°
(3) 80° 4)  130°

A farmer purchased a pump at Rs. 6600 after getting a discount of 12% on the
printed price. What might be the printed price of the pump?

(1) Rs. 7500 (2) Rs. 6500
(3) Rs. 5700 (4) Rs. 8500

SPACE FOR ROUGH WORK
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70. 0BRSS &5 S0 1962 trarohesd 5 9 B0 €8I0 HOTRED. 0T S E2:XBO

D08 ?
(1) 1900 o. (2) 1850 ooe.
3) 1950 o (4) 1800 o.

7. m« % 1. 2.53¢ m = 30 e0008 1 = 5. & BEB0 GBS, HOOOETR), TPADOR.
(1) m = 6n (2) mn = 150
3) n=150m 4) mn =6

72.  APQR 8% £Q soeom0 LR 305, §Pesssodmoess Speo Do) O $5¢§ pododid 50050

mZ 0 = 130° f5ec @00s mLP = dos ?
P

130°

Q R
(1) 50° (2) 100°
(3) 80° 4) 130°

73. 28 SSRODOES &8 RN S0@E do 12 &0 870w S5 6600 crarcne ©doIio.
90008 5AD0Y) GB0E, VOB IO oS ?
(1) 7500 o. (2) 6500 oo
(3) 5700 o. (4) 8500 oo
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Instructions for the Q. 74 and 75. The sale and purchase of a merchant for the year
2017 for 3 months is shown through a bar graph. Observe it and answer the questions.

_______ LR e e
T Y axis 1 cm = 1000 <

B BB Index : Purchase

9000 — | - ‘
® 8000 — il
Q
®© 7000 —
n
16000 —
&
o 5000
=
S 4000 —
=
B 3000 —
2000

1000 —
< > X

April May ' June
Months
\ 4
74. What type of bar graph is it?
(1) Divided bar graph (2) Joint bar graph
(3) Percentage bar graph (4) Simple bar graph

75. Find the ratio of total purchase to total sale for the three months.
(1) 7:3 (2) 10:13
(3) 13:10 4) 7:5

SPACE FOR ROUGH WORK

0711 / Telugu Set-A 30 of 32 Contd...



@’36574 SoDo0 75 E2EED QeSS 1 &5 aRrcod ados, 2017 K)Oéé‘ooes% 3 Boo 550 Eo:50f o0

555, Sg° DO FrHRE0D. BV HOBD0D 8o DI warened ABOE.

O FICY ]
80 !
Ll T Yo50p 13080 =1000 teakan
1\ 10000 — | | . . . . £250R%en

'eaaﬁoégo |

g o N0 ©
DI DD D
D IO DD
(«> I <> TN <> T <> T i <>

LA b
DD
O TP
DD

A <— 50h%n -e95 %0 (Grearahes?)

RS V) S X e9¥o

3e>e:o

74, asds 50 Sar B0 O BERORD ?
(1) Degr2s 505,05 Do (2) S sdoBae s

(3) F=podo 5Bee GO (4) Roeeoe 580,080 DES0

75, s0re0 F0SR) Boogo UM So00hn e:5eR8e DB EP0RCHO80.
(1 7:3 2) 10:13
(3) 13:10 4 7:5
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